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Question Numbers : (1 to 5)



Question Numbers 1to 5 :
Read the following passage and answer the questions that follow :

Dogs and cats should never be permitted to eat chocolate, because chocolate works
like a poison on their bodies. Chocolate contains a chemical called Theobromine, which
is stmilar to caffeine. Human bodies are able to process the Theobromine without any ill-
side effects, but dogs and cats cannot.

Different types of chocolate contain different amounts of Theobromine. It would
take twenty ounces of milk chocolate to kill a twenty pound dog, but only two ounces of
baker’s chocolate or six ounces of semi-sweet chocolate. The amounts, of course, are
much smaller for a cat, whose body weight is typically less than that of a dog. Most Cats
are 1ot naturally attracted to eating chocolate, but many dogs are. Dogs, by nature, will
sample nearly anything that they see their masters eating, so pet owners must take care to

keep all chocolate products well out of reach of their dogs and cats.

Sub questions

Question Number : 1 Question Id : 1455899690 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

According to the passage. why is chocolate poisonous for dogs and cats?

Options :

It contains caffeine

Chocolate is made from processed cocoa

5, Ltgets stuck in their mtestines



They cannot process Theobromine
4. &

Question Number : 2 Question Id : 1455899691 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
How much milk chocolate would be poisonous to a cat?
Options:
Substantially less than twenty ounces

1.

Substantially more than twenty ounces

Approximately one pound

Half- a Hershy chocolate bar
4. %

Question Number : 3 Question Id : 1455899692 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Why might a dog eat chocolate, according to the passage?
Options :

because it tastes good



dogs won'’t eat chocolate

they can smell the theobromine

dogs like to imitate their owners
4.

Question Number : 4 Question Id : 1455899693 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Choose the correct statement about the passage
Options :

Chocolate has 11l effects

Cats take twenty ounces of milk chocolate

. Cats follow the habits of their masters

Human bodies process the Chemical called Theobromine
4. &

Question Number : 5 Question Id : 1455899694 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

What does ‘sample’ mean in the passage?
Options :

model

Taste

simple

gluttonous

Is Section Default? : null

Question Number : 6 Question Id : 1455899695 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the correct sentence :

Options :
It is raining. aren’t it

1. %

, He said that he is ruined

You must work hard for success
3. %



It is smelling goodly

Question Number : 7 Question Id : 1455899696 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Choose the correct sentence

Options :

Considering about the quality, the price is not high

Do not preventing me work

She resembles her sister

He persisted to say this

Question Number : 8 Question Id : 1455899697 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the appropriate articles :

rose is attractive flower

Options :

1. %



d1l. 4

d. all

the. an

the. a

Question Number : 9 Question Id : 1455899698 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the appropriate articles :

bird in the hand is worth two in bush.

Options :

an. the

a. the
"

the. the



Question Number : 10 Question Id : 1455899699 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Choose the appropriate preposition :

He was vexed Ram for his behaviour.

Options :

at

to

with

upon

Question Number : 11 Question Id : 1455899700 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the appropriate preposition :

Prasad is confident his success.
Options :

of

1. %



towards

5]

for

about

Question Number : 12 Question Id : 1455899701 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the coirect answer :

The General the enemy’s fortress

Options :

storm

stormed
2.

have stormed

1s storm



Question Number : 13 Question Id : 1455899702 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the correct answer :

He . he and he

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.
Options :

CoIe, sdall, CD]]Q‘HE‘I’Ed
1.

came, see, CDH(lllEl‘E‘d
2.

caie, sail, CDIIC[HE‘I’E(I
3.

came, see, conquer
4.

Question Number : 14 Question Id : 1455899703 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Choose the correct answer :

‘Parasite’ means

Options :

A loss of motion

exterminator

disease

one that clings
4.

Question Number : 15 Question Id : 1455899704 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the correct answer :

‘placate’ means
Options:

to make sure

to annoy



to pacify
v

to refuse

Question Number : 16 Question Id : 1455899705 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the appropriate synonym for

‘Forestall” means

Options :

Progress

Frights

Prevent
3. %

Disappoint

Question Number : 17 Question Id : 1455899706 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Choose the appropriate synonym for Rectify



Options :

Build

Correct
2.9

Destroy
3. %

Command

Question Number : 18 Question Id : 1455899707 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Choose the appropriate antonym for Anomalous
Options :
normal

1. %

connected
2. ®

VICIOUS

capacious



Question Number : 19 Question Id : 1455899708 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Choose the appropriate antonym for preposterous

Options :

apologetic

credible

conceited

complaisant

Question Number : 20 Question Id : 1455899709 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Change the following into a complex sentence :

We went there and found that she had left

Options:

- She had left and we went there

She and we could not find each other



When we went there. we found that she had left
3.

She went there to find we were not there.

Question Number : 21 Question Id : 1455899710 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Change the following into a simple sentence :

The cow is good and gives milk.

Options :

The good cow gives milk
1.+

, This is a good cow, which gives milk

To milk the cow is good

The good cow gives no milk

Question Number : 22 Question Id : 1455899711 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Change the sentence from active to passive voice :

A storm ravaged the village

Options :

The village ravaged the storm

The village was ravaged by a storm
2. &

The village ravage by a storm

A storm ravage the village
4. %

Question Number : 23 Question Id : 1455899712 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Change the sentence from passive to active voice

“their wonder was restrained by a strange happening”
Options :

a strange happening restrained their wonder

1.¢

Their wonder restrained a strange happening



Happening strange their wonder restrained

Their wonder made a strange happening

Question Number : 24 Question Id : 1455899713 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Change the sentence from direct to indirect speech.

He said, “T will be writing to him soon.”

Options :

He said that he would be writing to him soon
1.9

He said that he would be writes to him soon

He told that he will be writing to him soon

. He said that I would be writing to him soon

Question Number : 25 Question Id : 1455899714 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Change the sentence from indirect to direct speech.
She said that they would have a party that night.

Options :

She says. “we will have a party now”.

v She said, “we will have a party to night.”

She ordered, “we must organize a party tomorrow” .

3. %

. She said, “we could have a party yester night.”
General Knowledge

SectionId: 145589321

Section Number : 2

Mandatory or Optional : Mandatory

Number of Questions : 15

Section Marks : 15

Enable Mark as Answered Mark for Review and

Clear Response: Yes

Maximum Instruction Time: 0

Is Section Default?: null

Question Number : 26 Question Id : 1455899715 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The leadership in family planning — EXCELL awards 2022 in the country

category was received by :

.-’-" o *
Wil © W i &k o L EEN

Options :
China
e
O
1. %
India
O] =Y
2. ¢
Singapore
Jf‘_’lé-'
3. % '
Thailand
A SF
4, %

Question Number : 27 Question Id : 1455899716 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The Indian Film personality of the year 2022 award at the 53* International film

festival of India (IFFI) was presented to :

QJ}"&JEH{!KM%'L'Eumﬂ()22\_,"p£pu; (IFFD 44 317 U 153 L sk
Options :

Rajinikanth

1. %

Late PuneethRajkumar

i
o o
S LD e E[‘.«‘?,f'

2. %
KonidelaChiranjeevi
# - 5 Kl
ul;{..-'z.l_.ifl_:.f
3. ¢
Amir Khan
e
4, %

Question Number : 28 Question Id : 1455899717 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



28.In India, eleven states account for 90 percent of the total number of operational

mines. Which of the following states are part of them?

B 5 <) P S it Ll s F UL/ FEI0% e

A, Andhra Pradesh

&l e
,___-‘;){J_fﬁj
B. Bihar
C. Chhatisgarh
a:fu'::i
. Gujarat
=
el
E.  Uttarakhand

S

Select the correct answer :

-
Options :
A.C & D only

DusC A S
1.4

B & E only

EnB 7

2. #

3. %



C.D & E only

E.oD {C A S/

A.B & Conly

(_.1 Il B *'A _-E‘,r"";

4. %

Question Number : 29 Question Id : 1455899718 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which one of the following is incorrect with regard to the National Green
Hydrogen Mission?

| ( - P' | d -‘.':" I} b 4 f’ .":'f'
b hbe)r e alf e P U

Options :

It was approved by the Union Cabinet in April 2023.

A 'l...;»* E’u-2{)23u ﬂ __J-Kn # f,-:_,

[t makes India a leading producer of green hydrogen in the world.

p‘ ~ l,---’
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[t reduces dependence on imported fossil fuels.
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It attracts investment opportunities for the industry.
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Question Number : 30 Question Id : 1455899719 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
30."Yaanam’ is a science documentary of about 44 minutes. Which of the following
are comrect about 1t?

e L. i ot e "o
el -"f'e:w'ff——-}é’:w"d:-{fw Wt Al LT Al ’r‘di.r‘-‘—:"'"*“ A
A.  Yaanam is a first science non-feature film in Sanskrit,

v g ' o pre
_..";_i"hrbfﬁ-_,;fl-;v%hf:&ff “:"i.'L"

B. It recounts the story of India’s Chandrayan.

e i :
— UROW U e e Ry

C. It was screened at the 33" edition of the International Film Festival of

[ndia (IFFI)

b i o
=L :g:f:;:ﬂ}.,l:;"’l'fvw ,'-L_,.‘_':i.;:.'

Select the correct answer :

i

S g elr e



Options :

A & B only

B -'.3' A I—-;_,'r.ﬁ

A & C only

C ool A ¥

C only

NG

B & C only

'C FEL B -._jj"‘;r

Question Number : 31 Question Id : 1455899720 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The total length of national highways (NH) in India , as on 30" November, 2022,
approximately, was : (in lakh kms)

.

R Z g ary il sy A 1
(LAFENE L PSS S dd Lossiec 2022 2330

Options :



Question Number : 32 Question Id : 1455899721 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

March 2023, who among the following was elected as the Chief Minister of
Tripura?
wu w il e Si22023%.4
Options :
ManikSaha

WLl
1. %

ManikSarkar

J Kz“ ...FLTL



. Biplab Kumar Deb

-~

el

Dasarath Deb

3B

Question Number : 33 Question Id : 1455899722 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In World women’s Boxing Championship 2023 who won the gold medal in 50kg
category.

- Wl o g wr har B s g .
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Options:

LovlinaBorgohain

ﬁ L
1 |"r:*"I s50s s
. B

NikhatZareen



Saweety Boora
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NituGhangas
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Question Number : 34 Question Id : 1455899723 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following is wrongly paired regarding Nobel Prizes 2022,

.

P-ELICL g, Pes el s b3
Ce Gl e L1p Z2022:M601) 5
Options :

Physics — John . F. Clauser

e - =¥
1. %
Chemistry — Alain Aspect
2T IV
2. 4



Peace — Ales Bialiatski

c |
SELS - S
Economics — Philip. H. Dybvig
= Sy I T
SIS EIE L e
4. %

Question Number : 35 Question Id : 1455899724 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Choose the incorrect pair regarding the Union Budget — 2023 from the following.

& |4

NG | . '-' f i-.-"
LW ’EI;}?.'MLUT:UE b NP L2023 1785087 7
Options :

Gobardhan - Waste to wealth plants

i#® H {-’ ol [ -’P’;
W&y ssd Lmday — T asd
1. % )
AmritDharohar — Optimal use of wetlands
Vg
eIy FEEUSE IS - s P
2. %

3.¥



Unity mall — Centre for national integration

Question Number : 36 Question Id : 1455899725 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

‘Whose writings influenced Karl Marx’s dialectical materialism?

-
1

T TR f £l ' B
-y ;‘V;:JHLF’:?"‘I;L::'L;_‘:;_,” JLVFJEIFJ_-VIE{J_/;L:.'_,:H

Options :
Ricardo
y "JE:’J
1. % i
Hegel
¢,



Angels

urﬁ'j
3. %
[enin
-
o
4. % ~

Question Number : 37 Question Id : 1455899726 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

[dentify the writer who won the SahityaAkademi Award for Telugu Novel
‘ManodharmaParagam’ in 2022.

e | | pois i el | .-"ﬁ..’?"«'."ﬁ £,
s S JRO220 L SAISHMAST o LONH L 14l P

Options :
Vadde Naveen

o A3
1.%

RepakaSubhadra

-'J;ui‘,{,‘!""é;,x
2. % :

3.¢



MadhuranthakamNarendra

U,ﬂ:jl’fh!"pn

Chandra Latha

Vi

4, %

Question Number : 38 Question Id : 1455899727 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In which city the COP-27 conference was held

Sl PECOP2T U AU

Options :

Kuwait
oy
Sharm-el-Sheikh

2. %

Doha

b2



Beirut

[:
i

Question Number : 39 Question Id : 1455899728 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which Harappan City recognized as UNESCO world Heritage site in 2021.
# & - - " s f& 5 of
Yo UL UNESCOU20215 7.2y
Options:
Kalibangan
7
Tt
Dholavira
lzalls”

2. %

MohenjoDaro

EVIRE AN
3. =%



Lothal

LY

Question Number : 40 Question Id : 1455899729 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Every year world Press Freedom Day is celebrated on

- e s # T e |
- Pl b T Sl a1

Options :

3", May
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SectionId: 145589322
Section Number : 3
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Number of Questions : 10
Section Marks : 10
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 41 Question Id : 1455899730 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
What is the appropriate purpose of learning?

S

Options :
Modifications of behaviour

L . -

L | sl '1 /
o, A e SIS
-

1. %



Individual adjustment

) ]
— .,‘3./'1'-:'}'/;’”'
2. #

Social and Political awareness

# o =
Ul 208

3. #

Development of life skills
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Question Number : 42 Question Id : 1455899731 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
How can a teacher establish rapport with students?
R - E:-—H, oo -
S W duf B O AL oL

Options :

Becoming a figure of authority



Impressing students with knowledge and skills

_.; f'w‘:‘ ,lb_._,;w #~

Playing the role of a guide

.J_,__- !.-* !.-d"(“1 ..
A L W EVE -1V
3. ¢

Becoming a friend to the student

PSR 7 b
4. %

Question Number : 43 Question Id : 1455899732 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
What are the essentials for the improvement of any skill?

-
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o

3
Options :

Correctness & Speed

Ty,

-‘1‘

I . il
A2y 4

2. &



Accuracy & speed

;LJ’;;:F:.-E;'LEJ‘

Understanding & correctness

=
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Easy methods & speed
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Question Number : 44 Question Id : 1455899733 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
What can we promote to the learner through assignments?

|f- 4 __,.lr.' :"} b:" . .
S ey i A2l slay

Options :

Proper utilization of time

o
JEIG E ot



Continuity of classwork

hiy
VLFL Kl—---I qu;rg

Innovative ideas

= WS F17
3. %

Thought provoking

Question Number : 45 Question Id : 1455899734 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

How education is useful in application towards daily life?

__,I’l.Jl ; 7
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Options :

For logical thinking

3



Social values

e >
ABIEk

Problem solving

AN S
3.¢¥

Moral values

e S
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Question Number : 46 Question Id : 1455899735 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

What is suggestible step for the improvement of a slow learner?

Options:
Remedial teaching
e s kS kel

1.4

Re teaching

L""I“
2. %

-
P
-



Group discussion

.F"
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Imposition
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Question Number : 47 Question Id : 1455899736 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

What is the output that we expect from the students through high percentage of

attendance

k"

CBES LI et [ fa Sz fos i

(,--

Options:

Mid day meals

Discipline

J::-"sl/gf
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Minimum levels of learning

JE LAY
3. %

Honesty

L',;f,"' Il
4. %

Question Number : 48 Question Id : 1455899737 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which is the strategy goes perfect for the attainment of effective learning?

4 - '/ | ~ | i | w4
Puffv;h’ﬁ’;dfé-é-u'?yé-f I/
Options :

Online oriented education

r‘_"‘b l:h x.."’||.
uw '-"h-"

Learner centered education



Teacher centered education

i":“u d,:’li,."uf.ﬂ_‘&

Play way education

UEZ:?’M{'J
4. %

Question Number : 49 Question Id : 1455899738 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Expand UPE as per article No-45 of Indian constitution?

i - W ..f___n-
2K UPEJ 6 Z45 A8 L o T s

Options :

Union Programme education

S
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Upper primary education
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University programme education
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Universal primary education
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Question Number : 50 Question Id : 1455899739 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

“Jaya JayaPriyaBharathalanayitri...... Divyadhatri....” Who wrote this song?
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VP g Qu s 513 PR e W
Options :

Dasaradhi

Devulapalli Krishna Sastry
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Physics
Section Id : 145589323
Section Number : 4
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Number of Questions : 50
Section Marks : 50
Enable Mark as Answered Mark for Review and
Clear Response: ves
Maximum Instruction Time : 0
Is Section Default?: null

Question Number : 51 Question Id : 1455899740 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Inertia is defined by
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Question Number : 52 Question Id : 1455899741 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
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-uylLa
Options :
1072 m?



10—23 m?
1072 m?
10720 n?

Question Number : 53 Question Id : 1455899742 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The Kepler’s law of planetary motion states that the arcal velocity of a planet

orbiting the sun is
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Question Number : 54 Question Id : 1455899743 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If the velocity of a body is equal to the velocity of light in vacuum, according

to the special theory of relativity the mass of a body becomes

‘ . /P

g 2 gy sl s & 2 S

88?7 Olr 20 ) A 2w Lo
Options :

Zero

»

/u/

1. %

Half of its original mass

g / 2
2D b ) 3 o



Double of its original mass

/ vl
GV Zud (01 w1

Infinity

@ Lol

L

Question Number : 55 Question Id : 1455899744 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
For a simple harmonic oscillator,
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Kinetic energy is maximum at extreme position
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Kinetic energy is maximum at mean position
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Potential Energy is minimum at extreme position
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Question Number : 56 Question Id : 1455899745 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
When two harmonic oscillators each of mass ‘M are coupled with a spring of

mass ‘m’ then the normal modes are (@, =Natural angular frequency)
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Question Number : 57 Question Id : 1455899746 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The frequency range of audible sound is
o
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= — xS A3 _/{Hc}"“/
Options:

0-20 Hz
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20KHz-1M H:z

Question Number : 58 Question Id : 1455899747 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A particle is executing SHM with amplitude ‘A’, when its kinetic energy and
potential energy are equal at a displacement.
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Question Number : 59 Question Id : 1455899748 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In Lloyd’s single mirror, the phase difference between the two interfering

Waves is A7y
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Question Number : 60 Question Id : 1455899749 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



The condition for achromatism is
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Question Number : 61 Question Id : 1455899750 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In the frunhofer diffraction due to a circular aperture, as the diameter of the

aperture increases, the radius of the central bright fringe
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Question Number : 62 Question Id : 1455899751 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
For a zone plate, if fy, f; and fy are the focal lengths of red, green and violet

colours respectively, then
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Question Number : 63 Question Id : 1455899752 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The percentage of transmission of light, the Brewster’s window enabled is
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Question Number : 64 Question Id : 1455899753 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The angle between O-ray and E-ray in double refraction of light is
4 2 "'
s |- N o "'_ ’LLA],L-—-,JZ'
Sl -0 PN I
Options :

45°



2.

{}{}
3. &

180"
4, @

Question Number : 65 Question Id : 1455899754 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A sugar solution of concentration 0.2g/cc is in a tube of length 20cm. If the
angle of rotation of plane of polarization is 60° in a polarimeter for the
solution, then the specific rotation of the solution is

le»C"?Wuﬁ@&ﬂhdjf@j@‘{j@fﬂﬁ*?—ﬁ[c.c
- S £ T, -

L bo W ShG 5] é’fdﬂfy;b' g’cﬂ/{,ﬂfdﬂ‘"lﬁ/
T L Wbt S

Options:

66.5"

60.5"

62.5°

3. ¢



75.5°

Question Number : 66 Question Id : 1455899755 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The shape of the image of a square object formed with the aberration of

distortion is . wi A
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Bulged at the edges of square
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Question Number : 67 Question Id : 1455899756 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The focal length of a zone plate is given by
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Question Number : 68 Question Id : 1455899757 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The efficiency of a Carnot’s engine working between 627°c and 927

temperatures 1S |
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Question Number : 69 Question Id : 1455899758 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



According to the kinetic theory of gases, the energy of a system at zero

absolute temPEriture 15 2 PR ‘wa
2 3V (U0 GUL L LGP0
g y— A

Options :

0ev

— gV

1 ev

Question Number : 70 Question Id : 1455899759 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The transportation of kinetic energy from one region to the other in a gas gives
rise to
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Diffusion
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Thermal conduction
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Viscosity
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Question Number : 71 Question Id : 1455899760 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The change in Helmholtz function is equal to
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Question Number : 72 Question Id : 1455899761 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The increase in entropy when 273 kg of ice is melted at 0°C is (Latent heat of
fusion of ice is 3.26 x 10" I/kg)
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Question Number : 73 Question Id : 1455899762 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

For a real gas. Cooling by Joule - Kelvin effect is possible only when
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Question Number : 74 Question Id : 1455899763 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Wien’s constant is
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Question Number : 75 Question Id : 1455899764 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The following gas has heating effect at room temperature in throttling process
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Oxygen
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Question Number : 76 Question Id : 1455899765 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two stars radiate maximum energy at wavelengths 0.48 yum and 0.60 Lm

respectively. The ratio of their temperature is
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Question Number : 77 Question Id : 1455899766 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The integral form of Gauss law is
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Question Number : 78 Question Id : 1455899767 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The electric field intensity at the centre of a hollow charged sphere is
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Question Number : 79 Question Id : 1455899768 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The electric potential at a point of 1 m from a charged sphere of radius 0.5m

when it is charged to 10c is BV T i
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Question Number : 80 Question Id : 1455899769 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Biot — Savart’s law in vector form is
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Question Number : 81 Question Id : 1455899770 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

The Hall coefficient is
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Question Number : 82 Question Id : 1455899771 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The differential form of Faraday’s law is
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Question Number : 83 Question Id : 1455899772 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The SI unit of the coefficient of self induction is
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Question Number : 84 Question Id : 1455899773 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In an AC circuit, containing capacitance 2uF and frequency S0Hz, the

capacitive reactance is
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Question Number : 85 Question Id : 1455899774 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The y of a transistor is 49 then its B is
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Options :
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Question Number : 86 Question Id : 1455899775 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A zenerdiode in forward bias acts as a
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Transistor
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Question Number : 87 Question Id : 1455899776 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If A and B are the inputs of XOR gate then its output is
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Question Number : 88 Question Id : 1455899777 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The decimal number equal to the binary number (110.01), is
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Question Number : 89 Question Id : 1455899778 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

An AC voltage V=20 sin (100mt) volt is applied to a resistance 2k€). The rms

current flowing through it is
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Options :

14 mA

7.07 mA

Question Number : 90 Question Id : 1455899779 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The experimental verification of vector atom model is done by
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Options :

Raman effect
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A .
P YL - O L)

Davission-Germer experiment

Photo electric effect
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Question Number : 91 Question Id : 1455899780 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If an electron is accelerated in an electric field having potential difference 500V

then the de Broglie, wavelength is
n Y

et bl 5 g geoke a0 2]
s G C’*f}JJ{Jﬁ’yufi-‘“—ﬂ Svoy

Options:



1.23A°

3 93 AY
3.23A°

0.615A°

Question Number : 92 Question Id : 1455899781 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The spin of electron was experimentally detected by
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Stern — Germer experiment
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Question Number : 93 Question Id : 1455899782 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
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The quantum mechanical operator is of the following observable
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Velocity

PAVY,

Kinetic Energy
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Question Number : 94 Question Id : 1455899783 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
An electron is moving between two walls having separation 10™m then its de

Broglie wavelength corresponding to the first excited state is
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Question Number : 95 Question Id : 1455899784 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

For a normalized wave function (y)
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Question Number : 96 Question Id : 1455899785 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The de Broglie wavelength of a particle having kinetic energy E is 2. If it’s

kinetic energy is doubled then its de Broglie’ wavelength is
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Question Number : 97 Question Id : 1455899786 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The following is not the property of nuclear forces
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Question Number : 98 Question Id : 1455899787 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A superconductor exhibits
2
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Perfect diamagnetism
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Perfect Para magnetism
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Perfect ferromagnetism
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Question Number : 99 Question Id : 1455899788 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The maximum value of binding energy per nucleus is
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Question Number : 100 Question Id : 1455899789 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Quantum dots are used in
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Quantum Physics
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Optoelectronics
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Question Number : 101 Question Id : 1455899790 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The number of 2,-F, and P, -d, bonds in the structure of SO; molecule are

respectively J;L 3 /
S h-d »ita=lh S Sl Soq
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Options :
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Question Number : 102 Question Id : 1455899791 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
2 moles of an ideal gas expands isothermally and reversibly from 5 dm’ to 50
dm’ at 27°C. The work done (in KJ) is (R=8.3JK™" mol™)
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Question Number : 103 Question Id : 1455899792 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The acidic nature of alcohols in the correct order is
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Question Number : 104 Question Id : 1455899793 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following oxide is amphoteric in nature?
v
- " , I 5 - Vs a
@ by Vs d by awld 126 S
Options :

CaO

K,O

Question Number : 105 Question Id : 1455899794 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The set which represents only extensive properties is

da gV Yy

S g
A

Options :

1. %



Volume, enthalpy, entropy

&t f el |
Pakintrigllade ) < 7

Pressure, volume, temperature

(julirzfi'

2. &

Viscosity, surface tension, entropy

G 3L Sz

Heat capacity, electrode potential, Internal energy

(}UIJJGU-') ¢ o U d;ﬂ'}/:u Zwrllw /2

4.

Question Number : 106 Question Id : 1455899795 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Kolbe’s electrolysis of Sodium Propionate gives

) .z,"(fwa—«'/"ﬁ‘f"‘u
¢, - — %J-”ﬂ’”’/‘l(“’ﬂ
Options:

Cs Hy

1. =



CR H]ﬁ

2. %

Ce Hyz
3. ®

CsHyp
4.

Question Number : 107 Question Id : 1455899796 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following will have highest pH?

M,:} PR 0ol ‘"“‘*:&,;”%‘“4/'\’

Options :

0.IN HCI

0.01N NaOH
0.IN CH; COOH

0.IN NaOH



Question Number : 108 Question Id : 1455899797 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Units of equivalent conductance is
/
— ol Zuwse d 5\s
Options :

ohm cm?* eq™

1. %
ohm™ c¢m?* mol™
2. %
ohm™' em? eq
3. %
ohm™ cm? eq™
4. &

Question Number : 109 Question Id : 1455899798 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The reducing agent in Cleansen reduction is
ool S F oS F ol

Options :

1. %



Li Al H,

Zn— Hg ! HCI
3. Pd "‘ll B(IS{)J
CH 4 Li
4, %

Question Number : 110 Question Id : 1455899799 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The coordination number of Co in [CO (NH,); NO.] C, is

[}_J/f"" 38 O‘,U)f(tl’/co‘-{m [ Ca(NHg);NGz] efs

Options :

Z



Question Number : 111 Question Id : 1455899800 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The order of coagulating power of Chloride, phosphate and sulphate ions
towards Fe,0,.x H,0 sol is

uul_//J MJJ Mubk{pfzog, LY ORTY
b — kJU__,JL{wUG_)V]GU)“{)

Options :

Chloride < Sulphate < Phosphate

Sulphate < Chloride < Phosphate

sl ¢ 3BLNV ¢ e

Phosphate < Chloride < Sulphate

B R W



Phosphate < Sulphate < Chloride
EWE ] VIR GERCIVI EEap a1 3 N

Question Number : 112 Question Id : 1455899801 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The ITUPAC name of the compound given under is
7
S

/
o — (Lpppac Va2

H CH; - C (CHy);
\C #
/f
CH; - CH, CH;
Options :

(E) - 4,6,6 — trimethyl - 3 —heptane
4
bt - 3-Jilim 3L A~ b byl - ED

1.4
(Z) - 4,6,6 — trimethyl - 3 - heptene
g Lt e 4
o -3 - Ialan 35 - 4tk - (2
2. % o -



(E) - 2,2,4 — trimethyl -3 - heptene

b by J;" -(ED
Odwy o3 - Pler L2 8

(Z)-2,2,4 — trimethyl -3 - heptene

1 ok s
M" E“CL:"LE‘)L_-?{,L"J - &y Loy

e |

Question Number : 113 Question Id : 1455899802 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Hybridisation of Boron in the formation of diborane is

¥ i ;F /‘ 2
— s {,’UJU.JU_ML,B-’/M(_?LJU,J LS

Options:

sp

L

s P

s pd



Question Number : 114 Question Id : 1455899803 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In Bragg’s equation nd =2d sin# , where n represents
G g . )
ﬁ&/fJUe fr)(_,wnq)\:tld.ﬁ‘ﬂdh_..:’:wd __.JJ/‘J
( L
Options :

number of moles

> u’:u,r’ﬂ

order of reflections

RSV LAY

Avagadro’s number

sur 25 10!

number of x-rays

,)‘LJ':’ (j)(-‘?‘ty,!.

Question Number : 115 Question Id : 1455899804 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arrange the following alkenes in the order of increasing stability
N S
S/ /; / L3 W oA S u—ﬂ
- ‘,u? & '--‘” /J c3
MeHC = CH, II,C — CII, MeHC = CH Me MeC = CH Me
[ I1 IT1 IV
Options :

MMH<I1<1Il <1V
1. %

IV<III<II <1

2. #

[<II<Ill<IV

HM<IV<II<I
4. %

Question Number : 116 Question Id : 1455899805 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The most popular light radiation source used in infrared (IR) spectroscopy is
uw dy3 gl 10w a0

Options :

1. %



Hydrogen lamp

¢ Szt

Nernst glower

Y v %
PO CaE Ty

Deuterium lamp

Hollow cathode lamp

I - T
é/i;yww

Question Number : 117 Question Id : 1455899806 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The temperature at which two conjugate solutions merge into one another to

form one layer is called

s o JJ Jsl2 L;?;;J/J w2 0)
-..(__j-/"' JUM-._JJ!J)f'r‘J

Options :

1.



Boyle temperature

.
Critical temperature
A T !
o Jo b
2. %
Dalton’s temperature
¥ " J" v
A
3. %
Critical solution temperature
n n / :
4. &

Question Number : 118 Question Id : 1455899807 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Tautomerism is not exhibited by
w2 (éla L/. “““/F 4
Options :

1. %



CH=CH-0OH

o
=

O
2.9
/ szﬂ
5
3. #
0
S
O
4, @

Question Number : 119 Question Id : 1455899808 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In IR Spectrum, Carbonyl absorption is observed at
A i
/J__“_J}}JL/J.NL;J/L UMJL

Options :



3600 ¢cm”
3100 cm’™
1700 ¢m™

2600 cm’™’

Question Number : 120 Question Id : 1455899809 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

For a spontaneous reaction, the value of AG is
r / j,f L2 ] '
.(«_!_(..-—-—-/JGAQ; o ) Lf-ﬁu;)‘?g4
Options :

Zero
/:Vw

Infinity
i htied)



Positive
%

s

Negative

Question Number : 121 Question Id : 1455899810 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Arange the followmg compounds 1n the order of decreasing reactivity towards
electrophilic substitution reaction

i b i i vyl
JL{,&)’/E]J;QL?QJALA Soloo_Liis 401
-l i i 3 i S aphde

CH, Cl OCH;
| | |
Y e N
(I) (I0) (1) (V)

Options :

IV>II>1>111
1. ¢

IV>I1>IT>T1



[M>1I>1>1V

M>>IV >1

Question Number : 122 Question Id : 1455899811 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

N
In IR Spectrum, the peak corresponding to /™ group is in the frequency

ranoe of

o gk o 4 ( wr TR
<+ catipdal o w

(
Options :

1620 - 1680 Cm"™'

1. %

3200 - 3600 Cm
2. %

1710 - 1750 Cm™
3. %

2100 - 2200 Cm’’



Question Number : 123 Question Id : 1455899812 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The ebullioscopic constant is the elevation in boiling point of a

B D P T e GO
Options :

1 M Solution

. J ALl M

1 N Solution

C)Jj/!m

1 m Solution

sl Vm

1 F Solution

d,uhrf

Question Number : 124 Question Id : 1455899813 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Di carbonyl compound on heating with NH; gives a derivative of compound X,
on heating with P,O; gives a derivative of compound Y, then X and Y

respectively are L v G | £
Sl /mwij/ Al

o j" J;Lm.g//) /J]“'*’/"x

e — t:"',M/f“,‘y,/ﬂ)( oy el
Options :
Furan, Pyrrole

G s

1. %
Pyrrole, Pyridine
- 4
Ly Sade
2. %

Pyrrole, Furan

-} :
O s ot sy

3.¢

Pyrrole, Pyran

Ay Jda



Question Number : 125 Question Id : 1455899814 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following is a soft acid ?

$.0n = )
ca p D wloo g it >

Options :

Wg 2+

T4

Ca~

Cg?t

B€2+

Question Number : 126 Question Id : 1455899815 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The solvent which can dissolve all the carboxylic acids is
A r /S o
b 5B (o bt

Options :

1. %



Conc. H,50,

Ha S, /L'/

Conc. HCI

per 4o

Water

a ¥

dil. NaOH
Neop v

Question Number : 127 Question Id : 1455899816 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

When amino acid is heated with soda lime, it decomposes into

v A e |

gy S e T

Options :

1. %



Amine

(P |

—

Alkane
/
Cauh |
2. # =
Alcohol
!
7y
3. ®
aldehyde
4l 1
4, %

Question Number : 128 Question Id : 1455899817 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Example of pseudo halide ion is
: L ’
(_[LZ-' G/UJUJ—f_JJéL.; > &
Options :

SO



ClO;

2. ®

CN-
3. %

PO
4, %

Question Number : 129 Question Id : 1455899818 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The osmotic pressure of 0.1 M sodium chloride solution at 27% is

[Assume that sodium chloride under goes 100% dissociation, R=0.082 L-atm
K mol] il 29°
}L)J))L/J,UM//(’-’/" /2 2Tc

cl___,,._.-.

( T /d»ff/na/ J /ﬂ// (’ A J/JU"/] g
0=00§2L -atmk el

Options:

3.92 atm

1.96 atm



4.92 atm

2.46 atm

Question Number : 130 Question Id : 1455899819 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Dehydrogenation of secondary alcohol gives

o > — et &S ey

Options:
Acid
. -
A ]
1. %
Alkene
A
C’,,)U /
2. #® -
Aldehyde
3 N
e
3. % =



Ketone

O

-

Question Number : 131 Question Id : 1455899820 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following metal carbonyl does not obey the 18 electron rule?

S 50180 1g Ut Glas Linf 02>

S Gi ot
Options :
Ni (CO),
1. %
Cr (CO)4
2. %
V (CO)s
3. ¢
[V (CO)e]
4. #

Question Number : 132 Question Id : 1455899821 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



At very high pressures the compressibility factor (z) for 1 mole of a gas is

Options :

_pb
RT

Question Number : 133 Question Id : 1455899822 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Identify Hunds diecker reaction form the following

// ) . .-; 2 '/j. L MC}‘:Q’:"}:
S SSE SIS S PAD AR
Options :

1.4



R COO Ag—52— R Br+co, + AgBr

)
Il
H,C,-C-C H,+Br CH, COOC,H, —\cor

(n) Hy?

?H
H.C, T' - CH, COOC, H;
CHs

CH,~CH, ~COOH —ggp—> CH, - C H-COOH
Ci

R.COOH+HN, — 59, p_ NH +CO, + N,

Question Number : 134 Question Id : 1455899823 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The IUPAC name of the complex [Cr Br, (en),]Cl is

dT—-—— ﬂ/‘IU,DA( L/('_,-@V" Lﬁ/[‘:"’ Ry, @M)?JC[

Options :

1.



Chlorido dibromido bis - (ethane -1, 2 - diamine) chromium (I1T)
R A
- 3 '
(! VO IRRNC ol WP (7T VT ’;},{u/%
- -
¢im R 2 4

Dibromide bis - (ethane -1, 2 - diamine) chromium (IIT) Chloride

A4 p w: I 5 b &
(Q)ffy (Ct"“fdf’-’.sfz rr-(.gaf;',)-.o-‘f,l_f"’.?/’_(.?’;

WK
2. -
bis - (ethane -1, 2 - diamine) dibromido chromium (III) Chloride
/oL I L vl )
v}, I aursadls (18150 ol
s oy
AJ-’J/
3. % -
dibromido bis - (ethane -1, 2 - diamine) chromium (VI) Chloride
/ s 4
VN a2 (O Q3. 2 )_Cugw] y_ oy oRhIAQ) S
\Wp e cpelys oy sTSRS
)
4, % =

Question Number : 135 Question Id : 1455899824 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The bond order of O, molecule is x. the bond orders of 0, and O," are

respectively - ol 5 ‘
t W O
~ \ ' ™ 7‘ J/JAJV/J 2
Uy W 5503-/) % T ~ AL
Options :
3x  3x
2’ 4
1. %
x 3x
)
2. %
5x  3x
4’ 4
3. %
3x  ox
4° 4
4.

Question Number : 136 Question Id : 1455899825 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Nitro benzene on reduction in acidic medium gives
s ey el ly (s
o Dyt 1§ Gyt

Options :

1.



Nitroso benzene

Aniline

2.9

Azobenzene

H 2]

3. %

Phenyl hydroxyl amine

it
ORI 4 L L

4. %

Question Number : 137 Question Id : 1455899826 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The colour of Cu (II) is blue, whereas two colour of Cu (I) is
4 . 4 -/
g, — M Veud)z g v L) K eucq) o

Options :

1.4



Colour less

Question Number : 138 Question Id : 1455899827 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The compressibility factor of an ideal gas is,
, % vl
o, — J"U@J.&j-;") !s/u-ﬂ;‘-—,-*u,,,b;
Options :

1.0

1.+



15

2.0

10

Question Number : 139 Question Id : 1455899828 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

When acetone is reduced with excess of sodium and ethanol, it produces
o il M) 1o (3w sl
byt — - U Y
Options :

Ethyl alcohol

Jo M1 Pl

Butyl alcohol

N1 oL



n-propyl alcohol

Ve ;3
Sl 27

[so propyi alcohol

I by st

4. &

Question Number : 140 Question Id : 1455899829 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which of the following elements when dopped to germanium gives P-type

semi conductor?

oy bbb i 08— )(““”/‘7“"7
rmedwUdffﬁ PP

Options :

Carbon

9721

Phosphorous

)l



Sulphur
sk

Aluminium

Question Number : 141 Question Id : 1455899830 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Gibbs phase rule for heterogeneous system can correctly be written as
A N, '
~ / & 4 %
v ,@r /dy“’l_w) QM%’)—@;)WW/
-t r ' -~

Options :

F=C+P+2
F=C-P+2
P=F-C+2

PE=F-E%1



Question Number : 142 Question Id : 1455899831 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The most stable conformer of butane is

. v : !/
L}:ﬁﬂ(‘éﬁg;fl’/f’w& CEJ_?—/\!

Options :
CH,
H H
H H
CH;
1.4
CH,
H CH;
H H
H
2. %
CH,
|-:H3
H H
H H
3. %



CH;

Question Number : 143 Question Id : 1455899832 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A colloidal system in which liquid dispersed in solid is called
' + ' /
St Pegpor (WD) S)gvsd S
- 74 A o
eV — by
Options :

Gel

oz

Emulsion

O

Foam

74
Iz



Sol
r-»»-d( o)

Question Number : 144 Question Id : 1455899833 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The major product in the following reaction is,

o - ’
‘-—4”/(“: / d)__[z/',__.g_._‘ww d"’[-d.éxqja-}

o B

Options :

/CHJ

™ oh
1. &

/’A\‘/CH]'

"”"’-"ff GH
2.9

/CHj,

ﬂr.f#IfD.I-l
3. %



s CH;

h\\\\ i

Question Number : 145 Question Id : 1455899834 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The incorrect statement about physisorpton is

e Ol ik e e o F I

Options :

It decreases with increase in temperature

- v il -
~C1f7[.’37r")¢ o oyl gy pr s

1. %

It is a multilayered adsorption

Y
LoV V0 Bl

2. %
[t requires high activation energy
Z 1.9 /
G Uy Jole 4e1 1 2w
L G My Lo 3
3.¢



Enthalpy change is about 20 kJ mol”

.
2okdmotle 51 (Lo (_;/JJLE;\J:/ \
- QXY

Question Number : 146 Question Id : 1455899835 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
-

The product ‘Y’ formed in the reaction sequence is

e, — VS L W A (4012

H,0

Options:
Aldehyde
5 = n
whe i

Ketone

a3



Carboxylic acid

< 7/
e riJ- L Lf
_— ~ -_/J )
Aldehyde + Ketone
4. %

Question Number : 147 Question Id : 1455899836 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The unit cell parameters of a crystal lattice are a = 4.2 AO, b=3.7 AG, ¢c=10.6

" x=B=y=90". The crystal lattice belongs to

b 17A QG- ,({ZAOL//PP///‘?N(?GLfl()L?(}{-#]

o o Vel i S iz prd = GO €= J0dR
- Ll

Options:

Cubic

> o

Triclinic

® AEL’M



Monoclinic

,»Ub_.:uﬂ

Ortho rhombic

looere

Question Number : 148 Question Id : 1455899837 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which one of the following reactions will generate a pair of enantiomers?

el S e Aapghle ppeds

Options :
Brz
—_—
CCly
1. ¢
RCO;H
e
2. %



D,
—_—
Pd

0,0,
H,0,

Question Number : 149 Question Id : 1455899838 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

[dentify the pair of liquids which can represent a system with only upper
critical solution temperature.

Ry L“,J:‘,;uwm_)uu
JJ&U,J’&ML«J(UJﬂ!W/MWﬂa

Options :
Phenol + H,O

3 b+ i

1.4
Diethyl amine + H,O
By~ . Ly n
_1_;-"‘. -f-c}/‘d’!c‘_f’(.&fful;
2. % y



Nicotine + H,O

Ethanol + H-O

3+ Jolais !

Question Number : 150 Question Id : 1455899839 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The product *Y’ in the given reaction sequence is

TP

ﬁ} (i) NH, Br, / KoH

R-C-OH - = X =X
(i) A

Options :

R - CH; - NH;

RO

R-CH;-BT
3. %



4.+

R - NH,



